
	Turno:
	.U1.
	.GF1a.
.GF1b.
	.GM1a.
.GM1b.

	Tavolo:
	.T1.
	
	

	
	
	.PF1.
	.PM1.

	I
	BASE:
	
	M
P.
	V.
P.
	

	
	PUNTI:
	+
	DA
A
	 
	+

	
	TOTALE:
	=
	0
100
	10
10
	=

	II
	BASE:
	+
	105
300
	11
9
	+

	
	PUNTI:
	+
	305
500
	12
8
	+

	
	TOTALE:
	=
	505
700
	13
7
	=

	III
	BASE:
	+
	705
900
	14
6
	+

	
	PUNTI:
	+
	905
1100
	15
5
	+

	
	TOTALE:
	=
	1105
1300
	16
4
	=

	IV
	BASE:
	+
	1305
1500
	17
3
	+

	
	PUNTI:
	+
	1505
1700
	18
2
	+

	
	TOTALE:
	=
	1705
2000
	19
1
	=

	Somma da sottrarre:
	
	oltre
2000
	20
0
	

	DIFFERENZE:
	
	Turno da 4
smazzate
	

	VICTORY POINTS:
	
	©
GTBurraco
	



